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Al 14,943
- 803,700
EXN#EHEO AMHA 25 754,858 2,095,815 N 1,340,957
= 43,805
Al 14,943
- 696,110
EXNSBHEL L2 HEF 610,744 1,926,564 N 1,315,820
= 43,805
Al 14,943
- 551,996
Z2 AKX A & ALA 82,409 66,243 16, 166
= 20,555
- 61,854
101 e1214| 16,856 9,410 7,446
= 4,122
5 12,734
04 J|12tHIZ22NEES 16,856 9,410 7,446
OME Z2AIXIb ZAF M4E BEX 16,856
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= 4,122
- 10,605
-Z0a3EE 2 14,727 ,000& *4 .5% 663
-NMIHEE =2 14,727 ,000& *0.9% 133
-E88 s 14,727,000 *x1.5% 221
-HAAeEsE =2 14,727 ,000& *3.23% 476
-LOoIADIQUYBE 2 476,000 «7 .38% 36
-2XZLE 300,000& 300
-HEANZ 300,000& 300
201 LBt | 58,946 55,333 3,613
2 11,326
- 47,620
01 AP 22| d| 52,346 55,333 AN2,987
OXNINE2E AIRES 12,048
-Xotge 5 222 42 100,000 x1504 1,500
-CH == (E2H) X 65,000 x202 1,300
-CH E8€(E2H) 93 264,000 x20H 5,280
-AJIEY B2 IYetA 16,800 x108F A 168
-KJF ZAHZE EH =2 &4
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o=zl 8,0002 x5 x363] 1,440
=2 1,440
OMNESAXIN Z2ESXNE MEH
703 *22,0000H 1,540
02 =224l 6,600 0 6,600
OMNESARXNI Z2ESXNE €8 RERS
300& =22,0000H 6,600
= 6,600
202 01 2,400 0 2,400
= 2,400
01 = LH 4 Hi 2,400 0 2,400
OMNE S AKX EFZA 20,000& »243| 5% 2,400
= 2,400
203 YR =&l 1,500 1,500 0
03 AIBFAH S =AY 1,500 1,500 0
OEXYSR g4dst =& 1,500,000& 1,500
405 XtatE SHI 2,707 0 2,707
= 2,707
01 THatH ESFH S 2,707 0 2,707
OZ2lE(2h) 2,707,000& 2,707
= 2,707
ZoldE==H 24 12,000 10,500 1,500
201 ¢et24l 12,000 10,500 1,500
01 AF2 22l 12,000 10,500 1,500
ONgRE2 Nt ES=ESA & 2, 23S
=2 4,000,000& 32 12,000
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203 2R =AY 1,500 1,500 0
03 Al R =X QI Q=T 1,500 1,500 0
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1,500, 000& 1,500
KETHEAALY =& (XA 437,433 1,796,771 A 1,359,338
201 Yete | 13,240 25,331 A 12,001
01 At 22l bl 10,864 25,331 A4, 467
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OX AT ZAALY S E A 08I
20,0003 x4 3 »6& 1,440
301 LetR &3 422,753 1,770,000 A 1,347,247
2I243 422,753 1,770,000 A 1,347,247
OXNEMHZEAN 2HS(RL2X 7 462X )
422,752,620 422,753
NAETHEAANY FH(EX) 25,833 0 25,833
= 23,250
Al 2,583
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= 23,250
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01 At 22l 25,833 0 25,833
OF82X 7 XNAEMEZAL S 25,833,000& 25,833
= 23,250
Al 2,583
NEIEZFHNAHASKAH S & 24,720 0 24,720
Al 12,360
T 12,360
201 L2l 24,720 0 24,720
Al 12,360
T 12,360
01 At 22l 24,720 0 24,720
OXHIEE HMASXH s =2H(332F)
24,720,000 24,720
Al 12,360
- 12,360
Fs4 dFael 8,800 7,600 1,200
FSUSHEA: SHER MDD ZASH 29 1,000 1,000 0
301 et d = 1,000 1,000 0
12JEEd= 1,000 1,000 0
OEY S AOX ZaZ 500,000 x2AH 1,000
FSMSHE A 22l XA 2,800 1,600 1,200
201 L2l 2,300 1,100 1,200
01 At 22l 2,300 1,100 1,200
O S5 M 1502 *1,0000H 150
OdMIDMNE oM 50& *5&*3,0000H 750
OBHAIE A 2el QR2E AEIAH HH
1002 *2,0000H 200
OZgH ElH 300, 000& 4K 1,200
203 ¥R =&l 500 500 0
03 A=A H =AY 500 500 0
OFRSLESMHY HeHE M =8 =& 500,000 500
Es& A MM 29 5,000 5,000 0
301 gt d= 5,000 5,000 0
12 JIEBHE4 = 5,000 5,000 0
ORS4 N2 A ADX EZAS
1,000, 000& x5 5,000
E2Y FAMHY HE 135,314 161,651 A 26,337
C2H Y ASHSREHAIY 130,314 146,651 216,337
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OMREE #¢ 100,000& =103l 1,000
ot &€ &9 H&E 100,000& *103] 1,000
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-E2H 3 264 ,000& *9JH x23] 4,752
2T E 23 350,000& =4I *33] 4,200
OXNESEASHS T HAIF g =225 7Y
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02 352494l 600 1,302 ANT02
OADLEKAIS HIOIH 22 25,000 =12 «20H 600
203 Y2 F Y| 500 500 0
03 A =X SR =XH| 500 500 0
OE2HFAH:R 43 500,000& 500
308 AKX SHHSOIA 17,942 14,993 2,949
10 BI2SHUSEAHLAE ALY 17,942 14,993 2,949
OZ2IIFLZBEAAE S22 15,740,000& 15,740
OEdFAI2r FA2el 2,202,000 2,202
401 Al HI L £ 0HHI 97,520 97,900 A 380
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OERTZA GHUANL 8K 24
42,000,000 42,000
OX=AlLEDE=2g T &X 20,000, 0003 =14 20,000
Oxzdo &x 250,000& =404 10,000
O&atdl =4 Seottfa & X 30,0003 *250 4 7,500
Ogucszd CtLHAIEZE &X 18,020
-2 o 400,000 *5H4 2,000
-LEDY H =2 H & 2,000, 000& =24 4,000
P Eu =Rt 80,000& =144 1,120
I ZHSEX = 350,000 =144 4,900
—~0H & A OFLH & 3,000,000& *x2H 6,000
405 XH&HF S HI 700 17,696 AN 16,996
01 AL =2 EF SHI 700 17,696 AN 16,996
OADLEKAIS ©®ZD| 2 700,000& = 1CH 700

C2HEFEA EE FX 5,000 15,000 A 10,000
201 LEt2 Y| 5,000 15,000 A 10,000
01 AR 22| I 5,000 15,000 A 10,000

OEz¥HF=A 222 HE 5,000& *1,000H 5,000
BHSHAY (SN2 D) 103,590 101,870 1,720
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Jledul(EXI&el ) 103,590 101,870 1,720
Jl2del(EX &2 1) 103,590 101,870 1,720
201 Let24d] 25,470 23,750 1,720
01 At 22/l 22,560 21,600 960
OM2gll2+8H| 40,0003 x23H «12& 11,040
ORAMIIZ2 48 2 AH|
8,000 x23H x5A! x 128 11,040
O&=J| 2l 40,000& 123 480
02 2324l 2,910 2,150 760
O=2AMIl, ZgH sX&2 200,000 x63| 1,200
OE=2E, 235J ®X2el 200,000 »4CH 800
OYLRHESH 25EE 910
-AEESZ2d ZAL dRHA4HY SH
190,000& x4 H 760
-EX0IEAH AN JRH &Y S
150,000& *1H 150
202 O4dl 73,920 73,920 0
01 = LH 4 Hi 73,920 73,920 0
OJl=zge =d =20
20,0003 «22H x143| x 128 73,920
203 YR =&l 4,200 4,200 0
04 REN2ELRZ=LH| 4,200 4,200 0
ORN2Y 2=l 350,000& »12& 4,200
HREsS(EX 2l ) 4,000 4,000 0
BAEXNE(EX 22 ) 4,000 4,000 0
BHEXNE(EX 22| 1) 4,000 4,000 0
802 BHEt= DI EF 4,000 4,000 0
03 Ugd=3s 4,000 4,000 0
ONgReE=2 27 &= 2,000,000& 2 4,000




